[image: image1.png]Write the Balanced Equations: (Neutralizations) in ionic form and show net ionic equation.

a. & H,80, (ag) + NaHCO, (aq) -
b. H,;PO, (aq) + Mg(OH), (aq) -+



1. 

2.

[image: image9.png]Calculate the [H'] of a weak acid solution with [OH"] =3.50 x 10° M.
Calculate the pH of the solution.

Calculate the [H'] of a Classic Coke if the pH = 3.75




3.  [image: image2.png]Calculate the Molarity of a Phosphoric Acid solution if 50.25 mL neutralizes 60.50 mL
of A 0.35 Molar Potassium Hydroxide Solution in an acid/base titration lab.




4. [image: image3.png]1 0.581 grams of oxalic acid (H,C,0, 2H,0 requires 30.52 mL of KOH(aq) in a titration,
calculate the molarity of the KOH solution. (See acid/base lab - 23/24)




5. [image: image4.png]Calculate the calories needed to heat 1500 grams of ice from 20° to steam at 100°C.




6. [image: image5.png]An intravenous saline solution is 0.90% NaC1. What mass of NaC1 should be added to
1.25 kilograms of water for the solution?




7.

 [image: image6.png]What is the mass of HC1 (36.5 g/mole) in 200 ml of 12 molar hydrochloric acid?




8.  [image: image7.png]How many kilograms of antifreeze (Ethylene Glycol), C,H,O,, must be added to 25 kilograms
of water in order to lower the freezing point (aT) of the truck’s radiator fluid to
-25°C. (Kfp =-1.86°/molal).




9. [image: image8.png]Calculate the molar concentration (molarity) of a solution containing 200g of glucose
(CH,,0) in 300 mL of solution.




